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Find orig egbm price . Set Qs -- Qb

2000 - I OOP = - 100 t 200 P

2100 = 300 P

P = 7
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Find eigbm Q Q = - loot 200 P

Q = - 100 t 200 (7)

Q =
- 100 t 1400

Q -- 1300



Find new eegbm P $ Q after tax Make new demand is

-100 t 200 P = 1800 - loop
Terms of Q

300 P = 1900
P = 18 -Choo) Q
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Economic incidence of tax

consumers : 2- ( 7 - 6 'b)

producers : 7 - 643

total tax burden = tax-- P B tCB

2 = (2/3) t (2-43)=2
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popeye's during chicken sandwich . other fast-food , rest- uhneconsare
more price sensitive


